2-Step Word Problems

1. Jennifer has 256 beads. Stella has 3 times as many beads as Jennifer.
Tiah has 104 more beads than Stella. How many beads does Tiah have?

2. The small copier makes 437 copies each day. The large copier makes 4 times
as many copies each day. How many copies does the large copier make each
week?

3. Jared sold 194 Boy Scout chocolate bars. Matthew sold three times as many
as Jared. Gary sold 297 fewer than Matthew. How many bars did Gary sell?
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2-Step Word Problems

1. Jennifer has 256 beads. Stella has 3 times as many beads as Jennifer.
Tiah has 104 more beads than Stella. How many beads does Tiah have?

Jennifer: 256
Stella: 256 x 3 = 768
Tiah: 768 + 104 = 872 beads

2. The small copier makes 437 copies each day. The large copier makes 4 times
as many copies each day. How many copies does the large copier make each
week?

Small: 437
Large: 437 x4 =1,748
Large per week: 1,748 x 7 = 12,236 per week

3. Jared sold 194 Boy Scout chocolate bars. Matthew sold three times as many
as Jared. Gary sold 297 fewer than Matthew. How many bars did Gary sell?

Jared: 194
Matthew: 194 x 3 = 582
Gary: 582 —297 =285
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